
Introduction – Sixteen Farm Financial Ratios
An income statement and balance sheet only partially 
explain whether a farm is profitable and is in good fi-
nancial standing. While these two financial statements 
are extremely important, they are only the starting point 
in analyzing a farm’s financial position. Cotton farmers 
can benefit from the use of financial ratios. These ratios 
can help determine how efficient the operation is and can 
help detect problems early before they get out of hand. 
Financial ratios basically put the numbers from an income 
statement and balance sheet into the proper perspective 
for analysis. The use of financial ratios allows a farm to 
compare itself over time and also allows comparisons to 
other farms in the same year even if these farms are dif-
ferent sizes. The sixteen ratios cover the areas of liquidity, 
solvency, profitability, repayment capacity, and financial 
efficiency.

Liquidity
Liquidity is a measure of how quickly the assets can be 
converted into cash. Cash is the most liquid of assets but 
any asset that converts to cash within a year is liquid. A 
farm operates on cash and without it, it simply cannot 
function. Liquidity ratios help farmers determine if they 
will have enough cash to meet expenses for the next year. 
Liquidity is a measure of short-term viability. 

There are many ratios that can be used to determine 
liquidity, but two are used most commonly and can be 
calculated quickly and easily. These are current ratio, and 
working capital. The current ratio measures how well cur-
rent liabilities could be covered if all the current assets 
were liquidated. It is calculated by dividing total current 
assets by total current liabilities. Working capital is a 
dollar computation that shows how much capital would 
still be available if all current farm assets were liquidated 
and all current liabilities were paid off. Working capital 
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is calculated by subtracting total current liabilities from 
total current farm assets. 

Solvency 
Solvency is a measure of the value of assets owned by 
a farm when compared to the amount of liabilities. Sol-
vency answers the question of who owns the farm. Does 
the cotton farmer own more than the lender or vice-versa. 
By measuring solvency, farmers can determine if they 
should still operate. Lenders are especially interested in 
these ratios as they do not want to increase their stake in 
the farm operation as time passes.

There are three ratios that are calculated to measure sol-
vency. These are debt/asset ratio, equity/asset ratio, and 
debt/equity ratio. The names of these indicate the calcula-
tions to be made. Debt/asset ratio is a type of risk measure. 
It indicates how much of total assets are owed to creditors. 
Equity/asset ratio shows how much of the farm’s assets are 
owned by the farmer. Given that Debt + Equity = Assets, 
the ratios of debt/asset and equity/asset are complements 
of each other. In other words, D/A + E/A must equal 1 
(i.e., the lender’s stake and the farmer’s stake equals the 
total farm assets). Debt/equity ratio is a similar measure 
of financial risk. In fact, all three ratios are related. If one 
ratio is known, the other two can be calculated directly 
without knowing any other information.

Profitability
Profitability measures how effectively or efficiency re-
sources in the farm are being used to generate a profit. 
All assets can be used to generate profit including debt 
capital. By calculating the profitability ratios, farmers 
can determine if assets are correctly placed and if debt is 
being properly utilized.

Table 1.  Liquidity Ratios
Current Ratio = Current assets / Current liabilities
Working Capital = Current assets - Current liabilities

Table 2.  Solvency Ratios
Debt-to-Asset Ratio = Total liabilities / Total Assets
Equity-to-Asset Ratio = Total Equity / Total Assets
Debt-to-Equity Ratio = Total liabilities / Total Equity



There are four profitability ratios: rate of return on farm 
assets, rate of return on farm equity, operating profit mar-
gin, and net farm income. Rate of return on assets (ROA) 
is a measure of how well the total assets are creating profit. 
ROA is calculated by adding net income from operations 
and interest expense, then subtracting the value of operator 
and unpaid labor. Interest expense is added back so that a 
farmer’s financial structure does not influence the results. 
Next, divide that calculation by average total assets, which 
is simply adding the beginning of the year and the end of 
the year total assets, then dividing by two. Rate of return 
on equity (ROE) measures how well the farmer’s equity 
is being used to generate a profit. ROE can be calculated 
by subtracting the value of operator and unpaid labor from 
net income from operations, then dividing that number 
by the average total equity, which is the beginning of the 
year equity and end of the year total equity divided by 
two. Operating profit margin shows how much of net sales 
is actually profit. Operating profit margin is calculated 
similarly to ROA. The only difference is the denominator 
where value of farm production is used. Finally, the farmer 
should evaluate net income as a measure of farm profit-
ability. Because NFI is not a ratio, it does not account for 
farm size. Thus, it should be used carefully (i.e., do not 
use NFI to compare farms of different sizes). However, 
it is a good starting point for farm analysis.

Repayment Capacity
Repayment capacity is simply how well the farm can 
repay its debts. This measure determines if the farmer 
is able to pay off their term debt by using both farm and 
non-farm income after taking out living expenses, taxes, 
and social security taxes.  

There are two basic ratios that can be used to measure this 
capacity. These are term debt and capital lease coverage 
ratio, and capital replacement and term debt repayment 
margin. Term debt and capital lease coverage ratio shows 
the farmer’s ability to cover all term debt and lease pay-
ments. Term debt and capital lease coverage ratio is cal-
culated by adding together net income from operations, 
total non-farm income, depreciation expense, interest on 
term debt and capital leases; then subtracting total income 
tax expense and family living withdrawal. Finally divide 
this number by the principal and interest payments on term 
debt and capital leases. This number should be greater 
than one. Capital replacement and term debt repayment 
shows the farmer’s ability to pay the long term debts 
and replace the capital. Capital replacement and term 
debt repayment margin can be calculated by adding net 
income, and depreciation expense.  Next, subtract total 
income tax expense, family living withdrawal, payment 
on prior unpaid operating debt, and principal payments 
on current portion of term debt and capital leases.  

Financial Efficiency
Financial Efficiency measures how well farms use their 
resources and provides more detail than ROA and ROE. 
Like those two ratios, the financial efficiency ratios can 
be used to compare different size and types of farms. The 
financial efficiency ratios concentrate on the different 
sections of the income statement.

Table 3.  Profitability Ratios
Rate of Return on Assets (ROA)

= ( Net income from operation 
  + Farm interest expense 
  - Value of operator and unpaid labor ) / 
Average total assets

Rate of Return on Equity (ROE)
= ( Net income from operation 

  - Value of operator and unpaid labor ) / 
Average total equity

Operating Profit Margin
= ( Net income from operation 

  + Farm interest expense 
  - Value of operator and unpaid labor ) / 
Value of farm production

Net Farm Income (NFI)

Table 4.  Repayment Capacity
Term Debt and Capital Lease Coverage

= ( Net income from operations
  + Total non-farm income
  + Depreciation expense
  + Interest on term debt and capital leases
  - Total income tax expense 
  - Family living withdrawal )  
/  ( Principal and Interest payments on term
debt and capital leases )

Capital Replacement and Term Debt Repayment Margin
= ( Net income from operations

  + Total non-farm income
  + Depreciation expense
  + Interest on term debt and capital leases
  - Total income tax expense 
  - Family living withdrawal )  

= Capital Replacement and Term Debt Repayment Capacity
  - Principal payments on current portions of term debt
  - Principal payments on current portions of capital leases

= Capital Replacement and Term Debt Repayment Margin



Some of the ratios used to measure efficiency are asset 
turnover ratio, operating expenses ratio, depreciation 
expense ratio, interest expense ratio, and net income from 
operations ratio. Asset turnover ratio is an assessment of 
how well assets are being used to generate revenue. As-
set turnover ratio is calculated by dividing value of farm 
production by the average total assets. The next four ratios 
are called operational ratios. Operating expense ratio is 
calculated by subtracting depreciation from operating 
expense then dividing this number by value of farm pro-
duction. Depreciation expense ratio is the depreciation 
expense divided by value of farm production. Interest 
expense ratio is the interest expense divided by value of 
farm production. Net income from operations ratio is the 
net income from operations divided by value of farm pro-
duction. The last four ratios should total to 100 percent.

The sixteen farm financial ratios listed above are the ones 
recommended by the Farm Financial Standards Council. 
All of these ratios, once calculated, should be compared 
to farms of similar size and operation type. Also, a farm’s 
own ratios should be compared over time. Many of these 
ratios fluctuate from year to year and between farms with 
several factors such as size, market price of product, type 
of business, and other variable characteristics of the farm 
being important factors. This makes it impossible to set a 
single standard for all farms (although ‘ballpark’ standards 
can be used). Therefore, the two types of comparisons is 
the best way to use the numbers.

By calculating and analyzing these ratios, the farmer can 
see areas that can be improved to enhance farm output 
and efficiency.

Table 6.  Ratio Calculation Example

Table 4.  Repayment Capacity
Term Debt and Capital Lease Coverage

= ( Net income from operations
  + Total non-farm income
  + Depreciation expense
  + Interest on term debt and capital leases
  - Total income tax expense 
  - Family living withdrawal )  
/  ( Principal and Interest payments on term
debt and capital leases )

Capital Replacement and Term Debt Repayment Margin
= ( Net income from operations

  + Total non-farm income
  + Depreciation expense
  + Interest on term debt and capital leases
  - Total income tax expense 
  - Family living withdrawal )  

= Capital Replacement and Term Debt Repayment Capacity
  - Principal payments on current portions of term debt
  - Principal payments on current portions of capital leases

= Capital Replacement and Term Debt Repayment Margin

Table 5.  Financial Efficiency
Asset Turnover Ratio

= Value of farm prod / Average total assets

Operating Expense Ratio
= ( Operating expenses

  - Depreciation ) / Value of farm production

Depreciation Expense Ratio
= Depreciation / Value of farm production

Interest Expense Ratio
= Depreciation / Value of farm production

Net Income From Operations (NIFO) Ratio
= NIFO / Value of farm production



Table 7.  Accrual-Adjusted Income Statement

Table 8.  End of Year Balance Sheet


